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Ql. The lobe involved in benign
hypertrophic prostate (BPH) is:

a) anterior lobe

b) median lobe

¢) posterior lobe

d) lateral lobe

Q2. All are muscles of superficial perineal
pouch except:

a) Bulbospongiosus

b) Ischiocavernosus

c) Sphincter urethrae

d) Superficial transverse perinei

Q3. Inversion & Eversion of foot occurs at
a) Ankle joint:

b) Inferior tibiofibular joint

c) Subtalar joint

d) Superior tibiofibular joint

Q4. Median umbilical ligament is
remanent of:

a) Allantois

b) Vitello-intestinal duct

c) Left umbilical vein

d) Ductus venosus

Q5. The structure which arches above the
hilum of the right lung is:

a) Arch of aorta

b) Azygos vein

c) Superior vena cava

d) Right brachiocephalic vein
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Q6. Select the incorrect statement about

obturator nerve: /

a) It is derived from L2, L3, L4 spinal ‘%

nerves

b) It contributes in the formation of sub i
sartorial plexus of nerves

¢) It enters the thigh deep to the medial
part of inguinal ligament

d) Its posterior division gives an articular
twig to the knee joint

Q7. Which of the following structure is
not present in the stomach bed:

a) Body of pancreas

b) Splenic artery

c) Transverse mesocolon

d)Right Kidney

Q8. The pleura receives innervations from
all of the following except:

a) Intercostal nerves

b) Phrenic nerve

¢) Pulmonary plexus

d) Subcostal nerve

Q9. When standing on one foot, the tilting
of the pelvis on opposite side is prevented
by contraction of:

a) Gluteus maximus

b) Gluteus medius

c) Obturator internus

d) Adductor magnus

Q10. Duodenum develops from:
a) Foregut
b) Midgut

- ¢) Foregut and midgut

d) Midgut and hindgut
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